OCR GCSE Computing

Representing Data - Questions

Copy the question into your book and THEN answer it!

Converting Binary (base 2) to Denary (base 10)
1. 1010




2.   1110
3. 1010 1010



4.   1011 1101
5. 1111 1111



6.   0111 1010
Converting Denary (base 10) to Binary (base 2)

1. 16




2.   39


3. 
63




4.   169


4. 211




6.   254

Adding Binary Numbers

Convert the following numbers to binary and add them – show your working.
You MUST add the binary numbers, not just convert the answers!
1. 23 + 45

2. 62 + 127


3. 212 + 36

4. 92 + 76


5. 115 + 136


6. 19 + 236


7. 221 + 137

Explain why question 7 is an example of an overflow error. Explain why this might cause a problem.


